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#include <Servo.h>
#define PIN_SERVO_down 6
#define PIN_SERVO_up 7
#define x_control AO
#define y_control Al
Servo myservo_down;
Servo myservo_up;

int x_motor=90;

int y_motor=30;

//echo setting

int TrgPin = A2;

int EcoPin = A3;

float dist;

int flag=1;

void setup() {
myservo_up.attach(PIN_SERVO_up);

myservo_down.attach(PIN_SERVO_do
wn);
int x_motor=90;

int y_motor=30;

Serial.begin(9600);
// % B TrgPin N HUIRE
pinMode(TrgPin, OUTPUT);
/] % B EcoPin N NIRSS
pinMode(EcoPin, INPUT);
}

void loop() {
flag=1;
int x_read = analogRead(x_control);
int y_read = analogRead(y_control);

if (x_read<500)
{x_motor-=1;flag=0;}

if (x_read>524)
{x_motor+=1;flag=0;}

if (y_read<500)

{y_motor-=1;flag=0;}
if (y_read>524)
{y_motor+=1;flag=0;}
if (x_motor<0)
if (x_motor>180)
if (y_motor<0) {y_motor=0;}
if (y_motor>100) {y_motor=100;}
myservo_down.write(x_motor);

{x_motor=0;}
{x_motor=180;}

myservo_up.write(y_motor);
delay(10);
if (flag==1){
digitalWrite(TrgPin, LOW);
delayMicroseconds(8);
digitalWrite(TrgPin, HIGH);
/] 4EFF 10 A0 F R A —
Aok o
delayMicroseconds(10);
digitalWrite(TrgPin, LOW);
/1 BRIk 6 45 B R
dist = pulseln(EcoPin, HIGH) / 58.30;
Serial.print("Distance:");
Serial.print(dist);
Serial.printin("cm");

delay(200);

}

}

2. B/ HENEFF:

#include <Servo.h>
#define PIN_SERVO_down 6
#define PIN_SERVO_up 7
#define x_control A0
#define y_control Al
Servo myservo_down;
Servo myservo_up;

int x_motor=90;

int y_motor=30;

//echo setting

int TrgPin = A2;

int EcoPin = A3;

float dist,sum;

int flag=1;

int x,y,i;

J15E— RUHERAE I

int N=1;

void setup() {

myservo_up.attach(PIN_SERVO_up);

myservo_down.attach(PIN_SERVO_do
wn);
int x_motor=90;

int y_motor=30;

Serial.begin(9600);
[/ & TrgPin N HUIRZS
pinMode(TrgPin, OUTPUT);
// W B EcoPin NHINIRZ
pinMode(EcoPin, INPUT);

}

void loop() {
delay(2000);
Serial.printin("x y
distance(cm)");
flag=1;
x=45;
y=0;
while(y<=45){
x=45;
while(x<=135){
X_motor=x;
y_motor=y+2;

if (x_motor<0)

if (x_motor>180)
{x_motor=180;}

if (y_motor<0)

if (y_motor>100)
{y_motor=100;}

{x_motor=0;}

{y_motor=0;}

myservo_down.write(x_motor);
myservo_up.write(y_motor);
if(x==45){delay(800);}
delay(200);



plt.xlim(0, 60) xd1.append(x)

sum=0; plt.ylim(-30, 30) ydl.append(y)
for (i=1;i<=N;i++){ zd1.append(z)
digitalWrite(TrgPin, LOW); fx=4#ty fAEEIE if (i[2]>45):
delayMicroseconds(8); xd2.append(x)
digitalWrite(TrgPin, HIGH); HISCAT yd2.append(y)
/] 4EFE 10 2R E K f=open("5-1.txt") zd2.append(z)
P ik data=[]
delayMicroseconds(10); for tin f.readlines():
digitalWrite(TrgPin, LOW); tl=t.split() axl.scatter3D(xd,yd,zd, cmap='Blues')
/] R BRI ) B8 I i A t2=(] #2:HI U
R foriintl: axl.scatter3D(xd1,yd1,zd1,
dist = pulseln(EcoPin, HIGH) t2.append(float(i)) cmap='Red') #ZHill {5
/ 58.30; data.append(t2) axl.scatter3D(xd2,yd2,zd2,
sum+=dist; f.close() cmap="Yellow') #Z& | HS K

Serial.print(x);
Serial.print(" ");

Serial.print(y); plt.show()
Serial.print(" "); import numpy as np
Serial.printin(dist); xd=[]
delay(50); yd=[]
} zd=(]

dist=sum/N; xd1=(]

Serial.print(x); yd1=[]

Serial.print(" "); zd1=(]

Serial.print(y); xd2=[]

Serial.print(" "); yd2=[]

Serial.printin(dist); zd2=]]

delay(50); foriin data:

if i[2]<100:
X+=3;
} z=i[2]*np.sin((i[1]-fx)/180*np.pi)
y+=3; x=i[2]*np.cos((i[1]-fx)/180*np.pi)*np.c
} 0s((i[0]-90)/180*np.pi)
delay(60000);
} y=i[2]*np.cos((i[1]-fx)/180*np.pi)*np.s
3 FEEREF (python 3§3) . M(I0}-90)/180'np.p1)

#if (x<27)and(z<20):

if (i[2]>33)and(i[2]<45):
xd.append(x)
yd.append(y)
zd.append(z)

if (i[2]<33):

from matplotlib import pyplot as plt
from mpl_toolkits.mplot3d import
Axes3D

fig = plt.figure()
ax1 = plt.axes(projection='3d')
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